Here we have some dependent current sources, and we’ll draw a new current label for each one. 

The arrow will point up or to the right.
The first element’s arrow is in the same direction as ours, so we don’t need to change its sign; we then write down its value, which is dependent on Ia.

The second element’s sign is changed because it’s in the opposite direction, and then we write the value.

The third element’s sign remains, and the value is 7*4 = 28.

We negate element 4’s sign, write the coefficients of Ic down, and then copy the value of Ic. This evaluates to -15 mA.

Our arrows will point to the right in the lower cases.

We negate the sign for the first element and then evaluate 100*Id.

We leave the sign as it is for the second element and evaluate -20*ie, which is -2 mA.

The final element’s sign is changed, and we end up with 1 A.

